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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

9YH drafds qiiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfagel yead T de-03
Model Question Paper SET-03

FaT-11 fwa- seafaar ¥HI- 1 Her 30 fAee qUITE-40
e fAder-

> Y e fAart § 1

It is mandatory to answer all the questions.
> wedl T FT AT 40 ¥ |
The total number of questions is 40.
> UeE e & faw 1 3w Fuifa &1
Each question carries 1 mark.
> U AF N & fav ax fFed Ru av §1 598 ¥ v 7 [ewew &1 a7 ffFw |
Each question is provided with 4 options. Choose the correct option.
> Idd 3 & AT FIE e A FIE FATCA |

There will be no negative marking for any wrong answer.

1.3 #Y §XaT ¥ (Entrepreneur is)-

(a) WTEHT (Entrepreneur)

(b) SNTEH A= ITeT (Risk-taker)

(c) 9§=t% (Manager)

(d) 3 |sfY (All of these)

2. farafaf@a # & wla-ar @a1or 35T 7 @1 TRT (Which of the following characteristics an

entrepreneur should have)

(a) 4™ (Innovation)

(b) ST&# T& (Risk taking)

(c) 9@ (Initiative)

(d) 3 @3t (All of these)

3. a&ra?aﬁa:ﬂ’lﬁﬂ?m F fao 3?.:41'&&% (For industrial development, entrepreneur is)-
(a) ATdIeh (Unnecessary)

(b) TaIF (Necessary)
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(c) #X (Burden)

(d) &reT Y FEIEY (Wastage of Money)

4.3¢FH WETIF § (Entrepreneur asists):

(a) T 37T (Poverty Elimination)

(b) 3f%e A% (Economic Development)

(c) 4aft frATor (Capital Formation)

(d) 3TRFT GHY (An the above)

5. 3EATACT T ATTRIST § (Entrepreneurship is needed)-
(a) AR 3rdeaaE=T  (In developed economy)

(b) 3TTAFTAT 3rFeTTEAT H (In undeveloped economy)

(c) Rerarefier 3refeaa®aT & (In developing economy)

(d) T3 g1 FY 3rdeaaT AT H (In all types of economy)

6. Fafaf@a # & Fla-4 frdrwar sgafaar & g a1k e (Which of the following characteristics an

entrepreneurship should have)-
(a) SNT@# T& (Risk-bearing)

(b) TETER (Innovation)

(c) gge (Initiative)

(d) I9RYFT T3 (All the above)

7 3EAfATT @ § (Entrepreneurship is a game of)-

(@) &eT T (Money)

(b) THI FT (Time)

(c) =TTH T (Skill)

(d) o1 @ frelY 1 AEE (None of these)

s.mﬁn:qﬁmﬁmamﬁam% (In India entrepreneurial development programme is)-
(a) ATAIh (Necessary)

(b) 3TeATAISH (Unnecessary)

(c) THY FT FETET (Wastage of time)
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(d) &1t &Y F9TEY (Wastage of money)

9. 3‘{&'@?” R FRIFH YT FaTg (Entrepreneurial development programme provides)-

(@) SV (Unemployment)

(b) AR (Employment)

(c) ISATEAY (Dishonesty)

(d) 8TSETR (Corruption)

10. 3THY (An entrepreneur is).

(a) I=A ATE (Born)

(b) SITAT SATAT § (Made)

(c) ST+ ST § UG FATIT SATAT § &¥=A1 (Born and made both)

(d) & @3t (None of these)

11.9TRd # 36ATRAT T HIIST § (The future of entrepreneurial in India is)-
(a) AFUHR A (In dark)

(b) 35Tae (Bright)

(c) FFSATS H (In difficulty)

(d) 373 & FIE ST (None of these)

12.3¢afAar fasTd §FHT §, & @RI (Entrepreneurial development is possible with)-
(a) 3TAYUIOM (Motivation)

(b) TfRA&TOT (Training)

(c) T RI&T (Proper education)

(d) 39T @Y (All of the above)

13. 3afAar A %A Fl T18aT  ? (Who requires EDP?)
(a) ff&Ya &91g (Qualified group)

(b) A=Y fFd (Technical person)

(c) 7&-3fF (Ex-servicemen)

(d) 3T @Y (All of the above)
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14.323Jﬁ?|T AT FTIRIHH 1 H AT F fFF AT L % (EDP meant for developing)-
(a) ﬂ'ﬁ‘cﬂlﬂ'?ﬂ (Personal qualities)

(b) mﬁ?ﬁﬂ' 9T (Entrepreneurial motive)

(c) safFaera ?-ﬂ?_lﬁ (Professional skill)

(d) 39T @Y (All of the above)

15.3?3-11& USTITR & TN & FIAT % (Entrepreneur in employment opportunities)-

(a) Q'Eﬁl‘ (increase)

(b) &Y (decrease)

(c)THATA qqﬁ' (neither increase nor decrease)

(d) gﬂﬁ'ﬂ'ﬂﬂ?ﬁé’f (none of these)
16. 3R Ffgar & gfEAfaT a€1 fFa1 1T (Code of conduct does not include):

(a) fa=#(Rules)
(b) S$ATET (Dishonesty)

(c) Tafasai(Integrity)
(d) Afa=ar(Morality)
17.3{&Tﬁ'ﬂlﬁ'ﬁ'm% (Entrepreneurs are helpful in bringing about)--
(a) Hﬁﬁﬂ'mm (Balanced industrial development)
(b) Wmﬁm (Unbalanced industrial development)
(c) ﬁuvgarraﬁa:q’lﬁavﬁm (Scattered industrial development)
(d) Eﬁ@‘aﬂ?ﬂﬁ (None of these)
18. R # faceh mﬁ’q’f $r ﬂ"\ﬁﬂ-ﬂ'% (Role of foreign entrepreneurs in India is)-
(a)eThITcH® (Negative)
(b) HhRIcH® (Positive)
(c) Fa=Ter Y (Destructive)
(d) Eﬂ'ﬁ'@‘aﬂ?a‘lﬁ (None of these)

19. SHTHTT YT 3NN & fAFTH # 3g7#HY FT ARG § (Role of entrepreneur in the development of business
and industries is)-

(a) AITdIh (unnecessary)
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(b) ATAT (necessary)
(c) s R g (not justification)
(d) E IRIETA 78T (no role)

20. A7 & @ Fia-W 3nfis e Hr {AAvarg (Which of the following is a characteristic of Economic

Development)?

(a) fA=aX 9f$FAT (Continuous Process)

(b) 3cUTesT et 1 3R faeiesT (Proper Utilisation of Factors of Production)

(c) Sfra=t TRHA 'H'}TIT (Improvement in Standard of Living)

(d) 39T @Y (All of the above)

21. faF T & @ Fia-Ht 3 e i sgear g (Which of the following is a stage of economic

development)?

(a) IIFIRTETET HGEAT (Traditional Stage)

(b) BHW‘EF&-" ﬂ'q‘? &Y 37TEAT (Stage of Pre-condition to Take-off)

(c) 3TeHEG et IGEAT (Take-off Stage)

(d) 39N @AY (All of the above)

22. ARG & oY S{Zﬂ'flﬁ T Y 1T HIAT % (In India registration of small industries is)-
(a) ¥fea= (Voluntary)

(b) ATAIA® (Necessary)

(c) 3-lﬁ'a'l'¢i'(Compulsory)

(d) Eﬁ@‘aﬂ?ﬂﬁ (None of these)

23. agm#ﬁﬁma?r;ﬁm% (Investment limit in small industry is)-
(a) T3 S (X 3 crore)

(b)%4 FS (X4 crore)

(c)X5 H-T{E' (X 5 crore)

(d) %6 S (X6 crore)

24. 99 mﬁw% (Small industry is the subject of)-

(a) TATHAT IFR FT (Local Government)
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(b) eg WIHR FT (Central Government)

(c) =T IR &I (State Government)

(d) ST T&HY T (All of these)

25. T TIFR HEI,'BE?ITIT a?raaga:r &Y % (State governments provide subsidy to small industries on)
(a) STTST & $[ITCATA W (Payment of interest)

(b) d=ThY AT 9T (On technical knowledge)

(c) IRa&eT 9T (On transport)

(d) &7 |3f1 9T (On all these)

26. TGS FNTEH gl HT GFATIAT Fl'e'?l’ ?I'Eﬁ% (Business rist
(a) TR Afa HofEdaT & (Changes in government policy)

(b) 373 Y&+ ¥ (Good management)

(c) mﬁm ¥ (Employees' dishonesty)

(d) mﬂﬂ' g ¥ (Power failure)

27.qEARF NfRAFTIHTE (The meaning of business risk is):
(a) 81fa¥ &Y WFHTEAT (Chances of loss)

(b) TSR FT (Government taxes)

(c) =gaTdH SATIR (Minimum trade)

(d) AT FT 6T (Rise in expenses)

28. "R Y AT I i) T §AR ATT TEAT R 1" TS FUT [FTA FAT=¥d & ("Business like weather is with

us everyday." Who said this out of the following):

(a) 89 (Haney)

(b) #TeTer (Marshal)

(c) STeelIET (Batliboi)

(d) EeIT (Wheeler)

20. ¥ o &} e T @ IR § e ofter A faa w0 @ qusi & forw & aa 8 3k aga F i wrea

AE (The occupation in which people work for others and get remuneration in return is known as):)

(a) cIdHT (Business)
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(b) VST (Employment)

(c) 21T (Profession)

(d) E?m' a EF\? Tl (None of these)

30. AR 39 FIATE (Innovation produces):

(a) AT 39TE (New product)

(b) 5T TSI (New market)

(c) sTaYeT IS IGAT (New organisation structure)
(d) 39T THY (All of the above)

31. STATAR & AT (Sources of innovation):

(a) ITHTAF g (Unexpected occurrences)

(b) fsFAT Y T (Process needs)

(c) STET dUT IR & IRadeT (Business and market changes)

(d) 39T THY (All of the above)

32. A & @ TaraR Y 3raTyT FiT-H &2 (Which of the following is the stages of innovation):

(a) SATaETRAF fa=RY Y 9g=TT (Identification of business ideas)

(b) STTHTT FT AT (Business planning)

(c) giaYeT afaded &1 AATor (Formation of project report)

(d) 373 & T (All of these)

33.fa% T 7 @ Fia-H RAvar qg-AROT A 2 (Which of the following is the attribute of an innovator?)

(a) 37T fATAT (More Qualified)
(b) 3T WA FaX (High social status)
(c) 3178 WsTT@RATell (More influential)

(d) 390 GHY (All of the above)

34. T. U9, AT fAardl & (A. H. Maslow was the resident of):

(a) ST (Germany)
(b) 3TATHT (America)
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(c) ST (France)

(d) SIT9TeT (Japan)

35. 37fAARa FATRET F aikaif¥a fFar STaT € (Motivated employees are rewarded):
(a) FOTIcHA® (negative)

(b) 4=ITeH (positive)

(c) arEafa® (intrinsic)

(d) T3 | FIS 18T (none of these)

36. FU fr&ereT & fAT AT (For efficient direction,motivation is):
(a)3TTa?TS(necessary)

(b) AATALISR(unnecessary)

(c) &7 ST SETEY (wastage of money)

(d) THT Y Fa1ET (wastage of time)

37. 3TTRUROT ATer=AT & fA4ROT 7 TR g1 TRT (Motivational means should be determined on the basis of):
(a) IR (group)

(b) SaTF T (Individualism)

(c) T (job)

(d) I9RYFT T3 (all the above)

38. ST W IeT-AT AN IfAYTO &2 (Which of the following is non-financial motivation ?)
(a) ¥ (Salary)

(b) ST (Bonus)

(c) FHAT (Commission)

(d) it <Y FI&TT (Job Security)

39,81 STaHTT UeT Fat A HEIF & (Small business are helpful to generate) :

(a) 3778 VSR (More employment)

(b) 3T HSTGAT (Economic strength)

(c) 39 AT (Both of the above)
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(d) SCTA (Corruption)

40.3331ﬁT-IT ﬁ?lﬁ' YT gl H<cl (Entrepreneurship fails to lead-
(a) '\‘I'Iga'lff"ﬁ'-i' (Partnership firm)

(b) 7T fA9TH TS (New corporate division)

(c) Tt 3eTeTel 36TA (New subsidiary venture)

(d) 3RFTH A Hﬂé’ﬂ'@f (None of these)
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